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WERE-1

1.( VFIF (a+b)a—b)= a®—b?» 53K 482—162 =
(A)28 (B)2° (C)2° (D)2u

2.31% x 29?2 =

3. 872—2x87x89+89% =

4. #% 3512=35024+K > HI| K =

5. % 8 x (92+1) x 10 x (9*+1) x (98+1) +1=3"> H] m =

6. () TFHIEE=TF > W—EERK?
(A) 7772—27* (B)8522—482 (C) 10012—5992 (D) 1006>— 604>

7. MIASRELAZ KRB AME

(1) 99.5x100.5= o (2) 699x703 —701x697 =

4724+ 47%x26+13° B
732—73x66+332

(3)

8. F5 8x(9%+1)x10x(9*+1)=3"—1> K n=
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1L ERIZEAENESR » T yI—(E 2 IERENY ?
(A) 2x—3) 2= 4x*—6x+9 (B)3x—2) (x+3) = 3x>—6
(C) @x+3) %= 4x%+9 (D) 2x—3) (2x+3) = 4x*—9

2. % (x—3) (x+2) = X+mx+n > B FIAH$EER ?
(A)m=1 (B)n=—6 C)m+n=—7 (D)mxn=6
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1L.( ) BREERISCI » T 5I—{& 2 IERERY ?
(A) 152 =15 » [fin[(—15)>L 5], 15

(B) N fy—42=—16> FTLl—4 F—16 WEFHIR
(C) BT 0 Z4h (ETEE—ERIL ~ ERIEF TR

[ 1 1
(D) My 9=32- FliN\ (94 =33

2.( )Tl & EHE ?
(AEE 2 —2 &5 4 1EHR > bl 4 =2
(BYEE# F IR & R (E E
(C) VBIHY Pt By +3
(D)% a ~ b BEEE > B (a+b) =a+b

3.( ) \J150 EYMEAIA T A IRRE (R e 2

(A) 10 - 11 (B) 11 > 12 (C)12 > 13 (D) 13 > 14
4.( ) 81 HPTHIRESL 9

(A)9 (B)—9 (C)x9 (D)x3
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